CHESS    Sat  19  February  2005
                       David  Ellis  9276 1822  /  openfile@bigpond.com         1

A number of Australians have been involved in the early stages of the next World Championship.  The Oceanic Zonal, which includes Australia, NZ, Fiji & PNG, was played in Aukland with the winner in both the Open & Womenn’s event going forward to the final KO stage.  Winner of the Open was Australian champion Gary Lane who went through undefeated to score 7/9 in the 60 player event. Other leading scores: Paul Garbett (NZ), George Xie, Darryl Johansen, Jonathan Humphrey (all Aust.) 6.5.

Winner of the Women’s 17 player event was Irena Berezina-Feldman who, you may remember, was injured in the Maccabi games bridge collapse in Israel some years ago. Irena was also undefeated with 8.5/9.  

Here is a miniature from the event in which Humphries (who with Xie is Under 20 and among Australia’s brightest prospects) incorporates a deflection sacrifice, discovered check & pin in the winning combination (though not in that order):

Jonathan Humphrey  -  Igor Bjelbrk  (Sicilian: Taimanov) 

 1    e4 

c5   


 2    Nf3 
e6  

 3    d4  
cxd  


 4    Nxd4
Nc6  

 5    Nc3  
Qc7  


 6    Be3  
a6  

 7    Qd2  
Nf6  


 8    0-0-0  
Bb4  

 9    f3  
Na5   


10   Nb3  
d5   

11   Kb1  
Nxb3   


12   axb3  
dxe4   

13   Nb5!  
axb5   


14   Qxb4  
exf3? 

15 Bxb5+ 
Bd7  




(14...Qa5!)   

now find White’s winning moves (3 moves):
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Now a game from the winner:




      Gary  Lane   -   Greg  Canfell



                        2005 Oceanic Zonal



              Sicilian Scheveningen: Keres Attack



 1    e4  
c5  


 2    Nf3  
e6



 3    d4  
cxd  


 4    Nxd4  
Nf6



 5    Nc3  
d6  


 6    g4  
h6



 7    h4  
Nc6  


 8    Rg1  
h5



 9    gxh  
a6  


10   Be2  
Bd7



11   Bg5  
b5  


12   a3  
Be7



13   Nb3  
Ne5  


14   Qd4  
Rc8



15   0-0-0 
Qc7  


16   f4  
Nc6



17   Qd2  
b4  


18   axb  
Nxb4



19   Kb1  
Bc6  


20   Qd4  
Qb8



21   h6!  
e5  


22   hxg  
Rg8



23   fxe  
dxe  


24   Qe3  
Nxc2(a)



25   Kxc2  
Ba4 


26   Kb1  
Qxb3



27   Bxf6! 
Bxf6  


28   Rdf1!  
Rb8(b)



29   Qc1  
Be7  


30   Bd1!(c) 
resigns

a) A clever but defective combination which misses White’s winning skewering counter.

b) 28...Rxc3 (or first 28...Qc2+) 29 Qxc3, Qxc3  30 bxc3, Bxh4 only loses the exchange but leaves Black with a hopeless ending.

c) In consequence of moves 27 & 28 White’s bishop occupies the vacated d1 square & wins a piece.

SOLUTION:  1 Rxd7! (establishing the pin along the b5-e8 diagonal) 1...Nxd7  2 Bb6! & Black resigns: he cannot play 2...Qxb6?? because of the discovered attack 3 Bxd7+ while if 2...Qe5  3 Rd1 wins the knight & soon mates.

